DIVISION WITH A REMAINDER (H - SET 3)

DIVISION WITH 1 TO 10 Name:
Time: Score: y—
151 39722 +4 = 166) 11857 + 3 =
152) 27494 + 6 = 1067 736+ 1=
153) 41247 = 6 = 168) 10000 — 6 =
154 47511 + 7 = 169 36364 + 6 =
1) 52683 + 6 = 170) 60484 + 10 =
156 13331 + 5 = ) 8400 + 1 =
157 55186 + 9 = 172) 6908 - 1 =
8) 27702 + 3 = 1734590 + 2 =
159 56165 + 10 = ) 3644 + 1 =
160) 16226 = 4 = 175 36925 + 5 =
161) 17034 =— 2 = 176) 61227 =7 =
1620 8631 =— 1 = 177 20272 + 4 =
163) 14530 =— 2 = 178) 34270 + 10 =
164) 26364 + 9 = 1) 27144 + 5 =
165 59816 + 7 = 150) 34549 + 4 =
Mathematics: Division - Level T - Horizontal - Set 3 7 culu


https://www.workulum.com

